FE8[E HITH MEPFEEHYYHI—KE

1HE 11A3B(X)I25%/\—71
&iF: \FIRKEAISVUF

» FBAU—T » F&EB)—J .
Al A2 A B[R E e B B2 B3 2|22
mih | EFe | dtra [ 2|5 |8 = 2% I e e e B
g P almlal® = B&EH i e
19:00 ®13:00 210:00 ®14:00
Egéq: o x 700 x 13 °[%°]3 EEQEP 0 x 17| 1 x 4 20 13
E/;ZEP 7(Déa):ooo 0®1A1:000 AP . %Bﬁw 17@)1(2:000 5@102:000 6 | 22]22] 1
A3 ®13:00 @11:00 B3 ©14:00 @12:00 )
kb |13 O 0|0 A 0 arsgmsf [Epdes 4 O 1|0 x 5 S172 4] 2
25 \FILEKXKZEATSOUF
» FiECY—45 » F:ED—4
[ B(E[&
‘01‘~ c2 ”93 iy ; = II% :D1 D2 23 by ; = ”EE_
YA RX4th| ERd MERD (|55 & fiL P = e e e Liva
c1 19:00 ®13:00 D1 ® ®
94> X4th 3 0 0|l4 O 1 616171 &t 4 O 0|1 x 2 S13]%]2
c2 (19:00 @11:00 _ D2 ® @ _
ERm 0 x 3 1 x 2 of-4]1]3 =A 0 x 4 0 x 7 0|-1fo)3
c3 ®13:00 ®11:00 _ D3 ® @
MEERF [1 x 4]2 O 1 317232 e 2 O 1|7 O o slefo]?
215 \FI¥XEATSIUF
» FEEU—T » FEF)—5
E1 E2 E3 BIE[R[ e F1 F2 F3 BIE[R[ e
> 5| % |gls N 5| %8|
picy g A/ T bld 4= mlal & i BlU&H =eplfas EANIE = M fiL
E1 19:00 ®13:00 _ F1 ®@ ® _
R 0 x 2|1 x 4 05| 1]3 BAH 0 x 2|0 x 1 of=8fo]3
E2 19:00 @11:00 F2 ®@ @
AX/FH |2 O o 0 A O 412122 thifieh 2 O o 1 0 0 6f3]2]|1
E3 ®13:00 @11:00 F3 ® @
e 4 O 1]l0 A o0 a3l e 1 O oflo x 1 Slof]2
28H 11848 ((B)M205/\—71
28 ITXKZJ59UK 2B TK—J59UK
» TOP)—4 » Satelite!)—%
P © 0o w % o|1 BF
1]2 @14:00 2] o 1

@14:00 0| 0 (k34
8 |®s3w0] 1[1 @nao

@1040 2 | 1 ®13:10 200 @130 31040 0
19:00 114 |_®!;lsT| @900 &7 1 [ 0 mm| @950 |
T 1|T 2|T 3 T 4| T 5| T 6 S 1|1S 2]|S 3 S 4|S 5|S 6
YAV RE | il dtt | BAER| dbEE & | ME®R| A/T m | &) | BEFR
©12:20 ©12:20
i 1o RAH MER 0 | 8 e
&5 \FIEXRZEITSHUE > JIE{L
» Challenge!)—% 1 4 R ch
2 fu btk
P ® 0o ® 3 fi e
ol 3 @14:00 o] 2 4 i 4> XFC
®1040 2 | 4 ®13:10 2010 @130 5 i chifich
@900 | ®» 0 I 0 W I 29:50 | 6 i H4£ &R
ct [ c2 [ c3 ca [ c5 [ cs TG ERTH SRR DR E (TR0 1= lIE
EERIEEEE =W | =% |BWa REIFELELT,
®12:20

25 4|o =%



